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on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry twomarks. Al/questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
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allotted for the relevant entries, which may disclose your
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You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
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10.

12.

Toremeatard: wewarea e

TReefi=t ST ST ST a1 Jreraiet SR shIT=aTd ferera.

T ST ferean Swafreh=n s et fergra.

T JIITARd 50 SgIATd T¥H STRd. Yk TEAH g 00

ST, A1 YAl iet el Te Hrefort sifard oTe. wete ued

B o foreraren ol ST TSR AR Seia ST

TR GE AR foeneian yerafsert feft e, geand=n 5

Tfleed ST HeX TeTuf>ah! SHe @eiiel ael S7ad qud

TRTA.

() TR SHSUAEIE! TR AheR dEe i SHer.
e FHeie fohan Hia Serecid! JeTateR e T3

() U USSIaN THE SheaTyHTO! Yguiehel TehUT Uss
TS WTUfTeheiet UeRUT W9 <l HEAT USdTes Ueral.
S ST ITHATH /ST TIT STEAA/TgT= <ehrei
TR AT TehaT Ta¥ AT STHTITH HETS WoTUTIehT
geardre 5 fafeTae wHaarehten wWa 9% gadl
UYTUTIGRT AT TS, @A ouirenl aged
THEBUTR AT el el ATea fHeBuT ATl =Ireit huam

(i)  FOAIHAT o TEdigd dfeedatd YT aR

T TS (A), (B), (C) ST (D) Feit =R ferehed SR et

SR, TS A I AT STel! e oeaTgaT 3eshau!

hiea/Fea e

I, : T/ (C) T I IW THA .

T ST T TH. SR m?{dﬁwmmﬁﬁ?ﬁwaﬁ%ﬁ
T4, ST ShHish, TiF FeR fehall 3Me3E et ST v e
WWWMWWW mﬁmwﬁmmﬁmﬁg




JAN- 70218/I1—A



Time Allowed : 75 Minutes]

U 3Rd. @d U Wi

JAN- 70218/11—A

Education

Paper II

Brameme
gyautrent 11

Note : This paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt A/l questions.

AT ¢ A YTAALRd THY UATE (50) g TR fooidd ofed. Wi WRATen | (2)

[Maximum Marks : 100

1. Modernization leads to .........

(A) Democratization

(B) Globalization

(C) Industrialization

(D) Urbanization

2. Gandhiji’s basic principle of his life-

philosophy was ................. .

(A) Truth

(B) Non-violence

(C) Renunciation

(D) Truth, non-violence

(A) T
(B) sifed
(C) 3R

(D) TF, e
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“Religion and Education are ways
of upasna.” This thought is related
t0 evrrennen philosophy.

(A) Buddhism
(B) Jainism

(C) Spiritualism
(D) Naturalism

How was the relation of a teacher
with his student according to Swami

Vivekananda ?
(A) Philosopher
(B) Friend
(C) Guide
(D) Parent

‘Knowledge 1is Virtue’, this

statement with reference to .......... .
(A) Spiritualism

(B) Idealism

(C) Naturalism

(D) Pragmatism

JAN- 70218/I1—A
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Rabindranath Tagore is not

associated with ................. .
(A) Vishwabharti

(B) National Anthem

(C) Nobel Prize

(D) Vande Matram

One of the main truths of Buddhism

IS ceveeeeeenieeeenane .

(A) Freedom from Sin

(B) Freedom from Suffering
(C) Freedom from Karma

(D) Freedom from Anger

Importance of physical environment

1S given in ........cceeeeveeeen... .
(A) Realism

(B) Naturalism

(C) Spiritualism

(D) Idealism
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T

(A) foeasmdt
(B) s

(C) TA-GEh
(D) =eHmH

diIg dEdHHETd watd gHE 9

(A) T KT

(B) S Hekil

(C) AT T

(D) ShIETARA Hekit

(A) STEEER
(B) frefere
(C) 3TAHAE

(D) 3e¥aR
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10.

11.

Integration of spiritualism and

science in education was propounded

BY ceeeeeieeeeeees .

(A) Sri Aurobindo

(B) Swami Vivekananda
(C) J. Krishnamurthy
(D) Mahatma Gandhi

‘T think, therefore, I am’, is the basic
principle of ....................... .
(A) Realism

(B) Marxism

(C) Existentialism

(D) Logical empiricism
‘Viswabharti’

In 1921 was

established by .......................... .
(A) Mahatma Gandhi

(B) Vinoba Bhave

(C) Rabindranath Tagore

(D) Vivekananda

10.

11.
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(A) HereH el

(B) form@n v

(C) TefgTe R
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12.

13.

14.

Pragmatism advocates ....................... .
(A) Learning by doing

(B) Inductive-deductive method
(C) Lecture method

(D) Problem solving method

Women Education was discouraged

BY coeieeee .
(A) Plato

(B) Dewey

(C) Rousseau
(D) Erasmus

Socialization is the main aim of

education at .................... level.
(A) Primary

(B) Pre-primary

(C) Secondary

(D) Higher-Secondary

13.

14.
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15.

16.

17.

The family imparts education to the

child .................... .
(A) Formally
(B) Informally
(C) Deliberately
(D) Regularly

Socialisation is a process of

Participation in the school

ceremonies

Challenging the rules and

norms of social life

()

Learning social habits, attitude

and values

(D)

Knowing the achivements of

fore-fathers

The role of education with reference

to culture is .....cevueveennenn.e. .
(A) Preservation

(B) Conservation

(C) Both

promotion

preservation and

(D) Modernisation

15.

16.

17.
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(B) HaeH

fay
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19.

is not social

interaction.

(A) Communication among

members of a social group

(B) Communication between two or

more social groups

(®)

Communication between two

individuals

(D) Analysis of social process in

groups

Which of the following is an informal

agency of education ?

(A) Religious institution

(B) Anganwadi

(C) Adult education centre

(D) Night school

19.
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20.

21.

22.

A teacher introduces culture of
different communities to his
students, here he is performing the

role as @ ....ccceeeeeeinnnnnnnn .

(A) Promoter

(B) Conservator

(C) Communicator

(D) Creator

Who wrote the book “School and
Society” ?

(A) Auguste Comte

(B) John Dewey

(C) Emil Durkheim

(D) Robert Merton

Urbanization does not lead

170 S .

(A) Development of industries

(B)

Increased opportunities for

varied job

(C) Increase in thinking level of
individual
D)

Increase in economic status of

individual

20.

21.

22.
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23.

24.

25.

The most dominant impediment for

modernisation is ..........cccceeeennnnes .
(A) The caste system

(B) The religious system

(C) The family system

(D) The marriage system

The main constraint to social change

in India is ...ccooevvreeeeeeennn. .

(A) Non-flexibility

(B) International policy

(C) Non-acceptance of novelty
(D) Democracy

Promotion of an employee to
higher post due to acquisition

of qualification is an example of

(A) Vertical mobility
(B) Diagonal mobility
(C) Horizontal mobility

(D) Circular mobility

23.

24.

25.
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SR IhuTdIe Faid el TS

(A) STfager
(B) wrdgen
(C) HZagen

(D) faamewen

qRAWEa |qHTSeh  gRaddr=n g

(A) dreTqun

(B) STAQSIT &R0

(C) Trfauam=n TR

(D) hIEL
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27.

................. was the first person to give

psychological base for education.
(A) Stanley Hall

(B) Alfred Binnet

(C) John Locke

(D) Johan Herbert

According to Jean Piaget, the

process of cognitive development is

assimilation —» accommodation
— equilibration — reproductive

assimilation — unequilibration

(B) accommodation — equilibration
— assimilation — reproductive —

assimilation — unequilibration

(C) assimilation — reproductive
assimilation — accommodation —

equilibration — unequilibration

(D) equilibration — assimilation —
accommodation — reproductive

assimilation — unequilibration

26.

27.
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TITIUTSTATE ORI YeHd:

(A) ©Td BfdA
(B) 3T&he &
(C) SH @l

(D) wifed &R
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28.

A poet sees one incidence and after
some months or years writes the
poem regarding this incidence. This

period may be called

of creativity.

(A) Preparation

(B) Incubation

(C) IMNlumination

(D) Verification

28.

JAN- 70218/I1—A
Teh! el Teh Y& ifeel o AT hiel
Tfgn fondn auiHa & @ TEeR S
fafeett. = wramEeien gSARiaa=

(A) geqart

(B) 3dfeo
(C) YhIf¥Tehienol

(D) YEdmedl

29. According to Gardner’s multiple 29. 1||é.-|{-oe,|| qgrq‘q ﬂﬂ&q(—m Sl-lhl\'lﬂl'\‘LHl{
intelligence theory, art of ST Sl F Sfgee
photography is the example of -

TR 3QTEL01 TS
............. type of intelligence.

(A) TR
(A) Visual
(B) Bodily (B) TR
(C) Logical (C) difereh
(D) Musical (D) Giatasaes

13 [P.T.O.



30. The Sternberg identified

steps for information processing

theory of intelligence.

(A) encoding — inferring
mapping — application

response — justification

(B) encoding — inferring
mapping — application

justification — response

(C) encoding — mapping

inferring — application

response — justification

(D) encoding — mapping

application — inferring

response — justification

_)
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31.

32.

One child establishes relationship
between two or more concepts and
directed the relations continuously.
According to Gagne’s hierarchical

theory of learning, this activity

belongs to

(A) Multiple discrimination

(B) Concept learning

(C) Learning of principles

(D) Problem solving

Kurt Lewin used the concept of

to explain person’s life

(A) Geometry

(B) Topology

(C) Psychology

(D) Vector

31.

32.
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33.

34.

According to Allport’s theory of
personality, sincerity trait is related

170 YN .

(A) Primary traits

(B) Secondary traits

(C) Cardinal traits

(D) Central traits

The characteristics of personality of
sonal is pessimistic, unsociable and
reserved. Then according to
Sheldon’s classification she is

included in ................

personality
type.

(A) Endomorphic

(B) Mesomorphic

(C) Ectomorphic

(D) Asthenic

33.

34.
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sTAMe=ar safgqacd ITATIIR

(A) Wafer ToTfaRTS
(B) =M TuIfaRre
(C) Y& T[oTfasTe
(D) =g TorerRT
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35.

36.

Anita hesitates to talk to strangers.
According to Eyesenck’s view of
personality Anita’s behaviour falls

N e, .

(A) introversion (type)

(B) trait

(C) habitual response

(D) specific response

When Anil get failure in sport
competition and says ‘i could not get
sufficient time’, He is satisfying
himself. This is an example of

.............. defence mechanism.
(A) Repression
(B) Regression

(C) Projection

(D) Rationalization

35.

36.
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A T FfFeRIeR ST Hehid

gredl. AfAare § add SIEah Al

AR G ISR

.

(A) g &7
(B) ToRRd

(C) W= wfawER

(D) fafyre gfqare
AT His! T TIPS al
‘e 1 S THesren Fegar’ € WRA

(B) WA
(C) Y&

(D) T\gA

17

[P.T.O.



38.

is not a characteristic of

integrated personality.

(A) Good health

(B) Co-operative nature

(C) Endearing behaviour

(D) Aggression

In experimental research before

starting the data analysis the

researcher should ensure the data

WIth oo, .

(A) Graphical presentation

(B) ‘F’ test
(C) “L-test

(D) Normality of data

37.

38.
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TehlcH ATy

L.

(A) =T S

(B) ©Ehrd gt

(C) W& adq

(D) AThHh

YR WYNeA™EEd, Aifed] favas-

UTAT 3T GYNersha HAifgd] forsRit

Teuid ®EH hed Sda

(A) RfEa Tl

(B) F-=dret

(C) At

(D) wifedret (data) FEMERIAT
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39.

Tetrachoric coefficient of correlation

is appropriate when ................... .

(A) one variable is having natural
dichotomy and other is not

continuous

(B) both the variables are having

artificial dichotomy

(C) one variable is having natural
dichotomy and other is
continuous

(D) one variable is having natural
dichotomy and other is having

artificial dichotomy

JAN- 70218/11—A

.ﬁ@t .......................... ’a%|ng{9i5|d‘|°h

TeHaY FEUe S Sl

(A) T I S9iifeRgor €9 arma faamme

3 9 T Tied 38

(B) TR 9 FHFHATO T 9T
fayrTet o1&

(C) U I SEfifergor g9 arma faammet

A 9 TW sT@fed A
(D) =& I F\ATHT0 S 9T faamme

A 9 TW FHAAYN T AN
IECRGECE]

40. In experimental research ................. 40, TSR TOIET s -
variable is an outcome. & oot B
(A) Independent (A) TR
(B) Dependent (B) 3Tl
(C) Extraneous (C) gy
(D) Controlled (D) fratm
19 [P.T.O.



41.

42.

43.

Which of the following sampling

techniques is non-probabilistic ?
(A) Stratified

(B) Cluster

(C) Snowball

(D) Systematic

Data collection by visiting places like
Red Fort,

Industries and historical places is

Shalimar Garden,

referred to be

(A) Secondary
(B) Industrial
(C) Historical
(D) Primary

A sample unit is said to be good if

the sample is ... .

(A) Well educated to provide

enough data

(B)

Listed in the programmes of

educational institutions

(C) Drawn from a target group as
represented in the objectives of

the study

(D) Easily accessible to collect data

41.

42.

43.
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T IV STHYTEAT ST
TEAIEE 9 MR ?

(A) =rfipa

(B) T==

(C) site

(D) aHeg

ISHI, MR e, S TEm 9

e e Ay faasfaerel Afed
(data) &

(A) &9
(B) 3ir=nfirer

(C) TUferfash
(D) wafHs

TEIEH AT Uhahd FRT THAT Tl

(A) QT Hifedl (data) SvaTEdeR! gierfad
A

(B) S1e1fUrer SEAT=a1 ShTsh <Al IR idie]
A

(C) wyiterT=n 3fggweivmed e
ALY 3T

(D) Hifedt (data) GhaMEST TasTaTed
1A
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44. A researcher proposes that the boys | 44. T& TIMY®w 4 Arear fw, ‘=i
and girls perform equally well in SIfYeEd HER ol 9 qoil TharRed
mechanical aptitude test. This is FHEAM (performance) S¥fadmd’ &l
................. hypothesis. S | T = Yot | R 3
(A) Statistical (A) wifeat
(B) Research (B) g3neH
(C) Null (C) A
(D) Operational O EEIRIRED

45. The formula of Chi-square test is | 45. FE-TI3R (x?) =Ee =T
......................................... g SR

2
(£, + £)? o _vy| Lot 1)
(A) X2—2[ Ofoe J (A) X E( 2
2
2 f,-f
f.-f 2 e o
2_|1e "o (B) % ( J
o e[t fe
S EATA (©) «* Z(fe_f;f
— e o =
o v3{ist :
2
(f, - £.)2 9 _ N = 1)
(D) Xzzz ofe e (D) X 2 fe
21 [P.T.O.



46.

47.

Internal criticism in historical

research establishes

data.

(A) Accuracy

(B) Trustworthiness

(C) Utility

(D) Authenticity

A researcher was interested in
collecting data from teacher
educators. He visited the teacher
education conference and collected
the data from those who were
present. This sampling technique is

sampling.

(A) Purposive

(B) Instant

(C) Quota

(D) Incidental

46.

47.
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(C) U

(D) WTHTOST

rerR-foreror ofsew d2 oAl
Rarer-ufarhiched Afed! (data) Hehferd
FIOAEIST Teh GYNEH Togeh oidl.
TATGA M Afedr= (data) Heher whel.

I A T

THAIEE T3 T,
(A) Heqh

(B) dTcehifeieh

(C) fafserer

(D) iR
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48. Theoretical questions in any | 48. @l foemmEda dgifde Tw==)
discipline are enquired through GER e TEHTTSAT
.................. type of research. HNeARA fHeaedt .

(A) Applied (A) SIS
(B) Fundamental (B) Haud
(C) Action (C) il

(D) Historical (D) Ufceifas

49. Student ‘A’ has achieved twice that 49. A faenety B famneatian gome SURE
of student ‘B’ and thrice that of grE St enfr ‘¢ Taeneaiden @
student ‘C’. The measurement . - -
presented in this case is on e T H;Ldf Fell. T A
....................... scale (scale) ST STE:
(A) Nominal (A) T
(B) Ordinal (B) Frw
(C) Interval (€) i
(D) Ratio (D) IR

50. ‘A’ group has M = 5 and N = 20 | 50. ‘A’ el M = 5 &0l N = 20
‘B’ group has M = 20 and N = 5 ‘B ek M = 20 sTT N = 5
The combined mean for A and B W A 0 B = HIF HEIHN
groups will be ................. N .

(A) 12,5 (A) 12,5
(B) 25 (B) 25
©) 8 (©) 8
(D) 1.8 (D) 1.8
23 [P.T.O.
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